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1. Reparametrize the curve ;(t)=<e’ ,e*’,\@> with respect to arc length

parameter s, with (1 s reference point. (5 points)
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2. Let E(t)-—- (Ze" , €OSt , 12 +3) and r, (t)= (1—t W +'4) be two curves. Find
the acute angle between the tangent lines to the graph of (), r(t) at the

point of intersection p (2,1,3).
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Find the curvature x at¢ =0 .
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4. Find and sketch the domain of f (x, y)= \/ﬂ (4 points)
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5. Find the limit, if it exits, or show that the limit does not exit.
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' e, 0) X2 4 p . (4 points)
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6.Letz =f (x,y], xAsB,y = giinﬁ. Find f ig < (4 points)
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7. The maximum value of the directional derivative of the function f (x, y) at

the point (1, —2) is 10, and it occurs in the direction of 3i—4j . Find the
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directional derivative f (x, y) in the direction of i—j . (5 points)
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CIRCLE the Correctanswer or write the final answer . ’
* Consider the vectors: 4= i~ J+ k,é =3i+2] -2k ,and ‘

answer questlons : 1,2,ard 3. S o O
i- Pr 0_] b isthe vector ' 9; Z
Yo Tl

(@) -*(31-&-2] 2k)/ (b) —J;—(31+21 _2k)
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3.A vector orthogonal to both ag,b and of norix 3357
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* Consider the the vectors 5,5 such that Y-a‘ﬁ = 5,“5" = 3,“5: - B“ =7

then answer questions : 4 and 5.
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6- Parametric equations of the line passing through the point P(2,3,1)
and perpendicular to the plane x+2y-—z= TQlare : i

(@) x=3—1,y=—2+2z=-4+t {b))xz2%Ft,y=3+2z=1—1
(@) x=1+26,y=2+3z=-1+1 @ x=1+3y=2-2tz=1-%

* Consider the points:  P(2,1,0),0(4,0,1), R(5,3,-2),5(23,1), and

answer guestions : 7,8,9 andA410 . o
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7- Parametric equations of the line passing th/roug’h the points P,Q are:
(2) x=2+3,y=1+26,z=1-2t ((b) F=2+2,y=1-t,z=+¢

P

(© x=2+3y=1-2t,z=-2t (d) x = %3t, y = 12,4 = 72t
o ?&
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8- An qu,ati(’)'ns of the plane determined by the points P,0,5 is: X—C_{ﬁﬁ
@ 3x+2y-4z=8 () 3x-4z=1 Gl e
© y+z=1 (d) 3x+2y=8
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9-The area of the triangle with vertices P,0,S5 is:
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e Consider the lines : 5
Litx=l+f,y=2z=1-tL, :x=2-2t,y=1-QL,z="0F2l ™Y

and answer questions : 1'1,andl2 . .
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11-The distance between the two lines [,,L, isequalto: \r?/‘f)' |

12- An equationsof the'plane determined by thelines L,,L, is:

e

(a) 8x—y+5z=21 (b) 3x+y+z=4
(© 3x—y+z=0 (d)3x—y+z=4

In questions 13,14 Identify and sketch .
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